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VECTORS

%
1. Let vector V =(2,3) and vector

_
U = (6, — 4).
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(i) What is the resultant of U and V ?

o Watch Video Solution

%
2. Let vector V =(2,3) and vector

(i) What is norm of U ?

o Watch Video Solution

%
3. Let vector V =(2,3) and vector

_
U = (6, — 4).
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(iii) Express V' interms of ¢ and j.

o Watch Video Solution

%
4, Let vector V =(2,3) and vector
%
U = (6, —4).

— —
Are U and V perpendicular?

o Watch Video Solution

b

%
If U =(—1,4) and the resultant of

%
d V is(4,5), ﬁndV

<
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° Watch Video Solution

1.Suppose?:(—3, —1),?:(—1,4).

Find the magnitude of z + ?

A2
B.3
C.4

D.5
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Answer: D

o Watch Video Solution
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2.FV =24 +35 andY = i — 53, the
— =

resultant vector of 2U + 3V equals

- =
Adi —2
- 7
B.57 + J
—> —
C.71 — 97
— =

D.87 — j
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Answer: D

o Watch Video Solution

3. A unit vector perpendicular to vector

%
V =(3, —4)is
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Answer: D

o Watch Video Solution
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